AP Calculus BC

Infinite Series
Ratio and Root Test

Name

Use the Ratio Test to determine the convergence or divergence of the series.
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Verify that the Ratio Test is inconclusive for the series.
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Use the Root Test to determine the convergence or divergence of the series.

oo n n
20 ;(2%1)

Converges

oo (_ 1)n
24. Y Iy

n=2

Converges

Converges

n 52

=\n+l

Diverges

o0 ( 3 jh
25.
n=1 2n+1

Diverges

=(1 1Y
29. ;(Z_Fj

Converges

n=2

Diverges

oo

26. Y (2¢/n+1)

n=l1

Diverges

= (Inn)
30. Z_}(Tj

Converges

n

23.
=\ 2n-1

Diverges

Converges

-, ()
31. .
%)

Diverges



